[image: ]When we are saying in Q4 (trees[6]= “pine”).It wil say error becauses the trees are 0,1,2 and there is no 6.


image1.png
Jppinteatd 0002020200000

€ 0 O & pogemzomptiorpogenmingloriveconiey . sex 00:
.

e -~ @ @

Js

Programiz
Python Online Compiler

main.py

NouaswN o

trees=["oak", "beech”, "willow"]
trees[0]-"oak"

print (trees)

del trees [2]
trees[1]-"eucalyptus"

print (trees)

trees[6]="pine’
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[oak', 'beech’, 'willow']
['oak', ‘eucalyptus']
Traceback (most recent call last):

File "<string>", line 7, in <module>
IndexError: list assignment index out of range
>

I

pen @ D @ EHEO AG a6 2@ JE2





